Banaras Hindu University

Question Paper Name: 714
Subject Name: 714
Creation Date; 2019-07-16 12:30:18
Duration: 120
Total Marks: 360
Display Marks: Yes
Share Answer Key With Delivery Yes
Engine:
Actual Answer Key: Yes
WA i Heritage Management
Group Number : 1
Group Id : 19823613
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 360
Sec [ GE and CA
Section Id : 19823628
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 19823633
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 1982361255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Who has been appointed as the High Commissioner of India to the Republic of
Seychelles ?

= —

HYed H1 ARG Segad fhd Mged fear & 2 7

Options:



General Dalbir Singh Suhag
SISl oaR fHE FerT &1

1.
General Deepak Kapur
2 M'-I'-I.‘{.[:'l {I '-Jfﬁh r.!'-..I_LL\.: ?.h—T

General Bikram Singh

z WNel TasH e &1

Admiral Sunil Lamba

4 USTRS GATe ot a1

Question Number : 2 Question Id : 1982361256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

The rank of India in Global Talent Competitive Index, 2019 is:
faed e ufcemerl gerbi, 2019 H§ 9Rd &1 ©IF 2 ¢
Options:
30th
oat

Lo

1.

7hth
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50th
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Question Number : 3 Question Id : 1982361257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Wangi-Wangi white eve bird has been discovered in :
dr1-griT Barge 3 95 @ 9o 83 ©
Options:

Indonesia

| 3 rgerEr o



Sri Lanka
o HTeidT H

Bangladesh

India
4 ¥R

Question Number : 4 Question Id : 1982361258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Which of the Commission is not related to Centre-State relationship ?
e o ¥ SE-91 A Ss-red O 9 wEiad T8 e 7
Options:

Justice Thakkar Commission

Justice Sarkaria Commission

5 A ERBINAT AR

Justice Punchhi Comumnizsion

Justice Rajmannar Commission
i
~AITH[A XTAH-IR TR

Question Number : 5 Question Id : 1982361259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Who has recently been chosen for Danny Kaye Humanitarian Award ?
A BT H S PR AFGE YR @ (o0 fhy Fafd fear T ?

Options:
Privanka Chopra

Sonam Kapoor

5 EIGE] PR Gl



Eriti Sanon
o PIA T B

Deepika Padukone
4 SITIeT ATgRIUT Bl

Question Number : 6 Question Id : 1982361260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question
India has recently tested the Hypersonic Technology Demonstrator Vehicle'. Its
expected maximum speed is :

AR « B6 § EEUNEIH® caelel feamacey dizfber &1 wie faar &1 g9

HTHIT Hferhed T HH 2
Options:

i MACH-6

MACH -5
MACH-4

MACH-2

Question Number : 7 Question Id : 1982361261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A species of rain loving snake has been found in :
TUT TH- ®Y dlcl AT P WolTa orl T 2

Options:
Mizoram

e o

Gujarat

> o H

Orisza

2 ﬂé a1 H

Andhra Pradesh
4 3ife yeor #



Question Number : 8 Question Id : 1982361262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

A 'National Maritime Heritage Museum' is being established in Lothal, an
ancient Indian site of Gujarat. It is in cooperation with :
YN & W e A ToNd 3 U J9a0 [GREd @IEed a1 W S ol

Options:

Portugal

France

Spain

Turkey

4 THI B

Question Number : 9 Question Id : 1982361263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The highest weather station of the world has been establizhed at :

(e &1 Had Sol 3 H S g fhar @ 2
Options:
Mount Everest

1 "\,}]axq o 4 l'j-;. LI

Mount Kailash
o r;J-::"' 97 uir.iﬂ P

Mount Kanchenjunga

3. BTG Tdd W

Siachen

4, TR H

Question Number : 10 Question Id : 1982361264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The Rabindranath Tagore Literary Prize, 2019 was awarded to :
AR TR HIfged QRehR, 2019 f&ar 14 & -

Options:
Rana Dasgupta

, XTI SR 1

Soma Ghosh

Arvind Goswami

o IR TREF &

Anita Desai
4 CIE| P\.k*-.'_lép

Question Number : 11 Question Id : 1982361265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The country which has been honoured by Bank Note of the Year Award, 2019 :
a8 Ul ford ‘d& A 3ffF &1 SR [REBN, 2019 W GH1Id fardr T

Options:
Canada

o '\E

New Zealand

N
=
LIRS

2 &7

"«.ﬁ

North-Ireland

" -3ATReVs

Switzerland

i

-
4 B3 % R LU

Question Number : 12 Question Id : 1982361266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The new Emperor of Japan is :
AU & Y GHE ¢



Options:
Naruhito
1 G IEY F.-ir

Akishino
o K IGAEIGI

Hisahito

=3 ERUERL

Akihito

4 arfepfadr

Question Number : 13 Question Id : 1982361267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Who is the President of World Bank ?
fagg 4% & atemel BT & 7

Options:
David Malpass

=ids AUy

1.

Jim Yong Kim

i L4

fAd IO A

2.

Robert Zoellick

Paul Wolfowitz
4 Ui gemifad

Question Number : 14 Question Id : 1982361268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

A non-Britizh cricketer who has been declared President of M. C. C. ?
Ue R-fafer fede faars! fag o Wo o &1 Jemy Sifta far Tar ?
Options:

Kumar Sangakkara
| BAR TSR]




Shoaib Akhtar

Sachin Tendulkar
o= ﬁ'gcd v

V. V.5 Laxman
4 dlo dlo Yo TEHUT

Question Number : 15 Question Id : 1982361269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Guestion
'‘Game Changer' is the memoir of :
Options:

Shahid Afridi

1 E ’E'a ‘?J ]52 Ef Fﬁ[

Wasim Akram
JUMH HIH I

Sachin Tendulkar
qfe g @l

Rahul Dravid

Question Number : 16 Question Id : 1982361270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

For the first time, the President of India made a proclamation of emergency
under Art. 352 of the Constitution in year:
NG & NICUie - WGEH @ e 352 B Swaiia Haudd SAUIhIel Pl HIYUI bl
Options:

1962
, 1962H




Question Number : 17 Question Id : 1982361271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The Prezident of India can dismiss a member of the Council of Ministers :
AEURYE @ 6l Hew @1 9RG & AUl §N 9gegd [har ol el g

Options:

at his discretion
ITE fd9e & IR 9w

on the recommendation of the Prime Minister

Eﬁiﬂ_’qﬁfﬁ_“ @ HEgfd ™

with the consent of the Speaker
ﬂ-kr.h T e8] & H8dfad o

=3
on the recommendation of the Vice-President
, ST o R W

Question Number : 18 Question Id : 1982361272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The Preamble of the Constitution of India was amended for the first time by :
IRT & WiaEm &1 TRal &1 Jauerd Heied faar 1
Options:
XLII Amendement Act
. qUTc T Ed H9me- AGH-a9 8T

XI Amendement Act

5 OREd 99IeE AEEEE 5N



VII Amendement Act
= ATdd G9EE AfE=T9 gm0

XLIV Amendement Act
4 BT HeEE ST g

Question Number : 19 Question Id : 1982361273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

'Ozar' is known for -
‘TSR ST AT ©

Options:
MIG Aircraft Factory
. 77 i B & oy

Cement Factory

2. $-\-\.- = :-\."::r -.? EF I-a_q

Rafael Aircratt Factory
Thel oA e & fow

Newsprint Factory
HEGN] HFTS hdesl & oy

Question Number : 20 Question Id : 1982361274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The first paper mill in India started in 1812. Where was it located ?
[ 1812 § 9RT BT Ul BT Ael % g3 T Hel Ifaiem o ?

Options:
Serampore, W. B.

Mumbai, Maharashtra
X g, HENE

Yamunanagar, Harvana



Nepanagar, M. P.

4 IR, Ho Ho

Question Number : 21 Question Id : 1982361275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The phenomenon of 'October Heat' in the Indian subcontinent is due to:
ARG SRR H '3acay 21 ) "eAT &l B E ;
Options:

High temperature and high humidity
1 go OI9HI Sﬁ? 3] ETIT:'_‘IT

Very low velocity of wind

Hot and drv weather
5 T4 Uaq gk HiAH

Lows pressure 111 gangetic plains.
= N sy %, N
T & 1 E: - E\.ﬁ q |"§];| "-1E'| '—J

Question Number : 22 Question Id : 1982361276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which soil owes its colour due to oxides of iron ?
4 THS BT AT Ale-Afaargs & BN Bl 8 7
Options:

Laterite

1 "_:H‘i -.gE C

Black
o el

Alluvial
3 ATk

Forest and Hill
4 el T e




Question Number : 23 Question Id : 1982361277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which State has the longest coast-line ?

fohd o 1 Had o= Fgg-ac 2 ?
Options:
Gujarat
| TToRIT
Tamil Nadu

QOdizha

5

'L.':_'Js'. EF[

Kerala
HYE Bl

Question Number : 24 Question Id : 1982361278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which tributary of Ganga system flows northwards ?
T-TUTell &1 HHE-9G1 A2EE I Q9 & 98] & 7

Options:

Sone

1,

bl |

Ghaghara
HTENT

Eo=i

h

Gandak
4 Tsdh

Question Number : 25 Question Id : 1982361279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



The Nehru Report was finalized in vear :
e NUe &1 sifoa wu fgar 3, 9y -
Options:

1923

;192

3

o

1909

H:

—
O WO
W W
o1
-

1947
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Question Number : 26 Question Id : 1982361280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Who has been referred to as Lokhitwadi' ?
Arpiedarer ® AH 4§ B9 Sga e wer g 7
Options:

Gopal Hari Deshmukh

1 TTTOTe B U B

Lala Lajpat Rai
o CTedl eleidd Bl

Motilal Nehru
o A 8% I

Bal Gangadhar Tilak
4_Hﬁq'ﬂfnﬂ?iﬁﬁﬁﬁ G|

Question Number : 27 Question Id : 1982361281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion



Who attended all the three Round Table Contference ?
I T IET e TR ° guierd ar ?

(A) Pt. Madan Mohan Malviva (B) Vallabhbhai Patel
To HEA A2 AT R IF
(C) B. R. Ambedkar (D) Tej Bahadur Sapru
dlo 3No IFISHT <ol 98IgR Y
Options:
Cand D
) CaaD
B and C
» BTAC
A Band C
5 A BTETC
Aand B
4 ATIB

Question Number : 28 Question Id : 1982361282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

When a ship enters a sea from a river :
W WET Tl ¥ WHg § Ua9 &Y 2, T

Options:
the ship rises a little

SET UTEl $9Y 96 ol &

the ship sinks a little
SIardl drgl < g9 ordl 8

the ship remains at the same level

3 WEnd Sdl WY W Y&l 2

the rise or sink depends on the material the ship is made of
4 VTBTA &1 HUN Jo-1 T a1 36 W U Xl & & Werd 9 ueri @1 a1 8




Question Number : 29 Question Id : 1982361283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A device used for measuring the depth of sea is called :

5 0

i b % - *, a
A% DI TENIs A9 alcd IH B Hed ©

Options:
Fathometer

1 e : ?-.

Manometer

2 o W ¥ $CH~

Altimeter

3, RSN

Hydrometer

4 ETESMAI

Question Number : 30 Question Id : 1982361284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The 'Black Death' that killed about 60% of Europe's population was due to:
i ST, TAHH PR B AT 60% SIS Bl A g8, DI PR of

Options:
Plague

I

Small Pox

> '-":l '-':1 h

Tuberculosis

z O q\ iads

Pneumonia

4 I

sec [I Quantitative Ability
Section Id : 19823629
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Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: 900
Display Number Panel: Yes
Group All Questions: No
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Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 1982361285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The sum of two numbers is 9 and sum of their squares is 41. The numbers are :
ST T BT ANT 9 & T7 9% 99 &1 AT 41 &, 91 HEw 2
Options:
4and5
, 4TS

1and 8

Zand ¥
4 2797

Question Number : 32 Question Id : 1982361286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

- T f > I
If a=b", b=c¥, c=a" thenxyzis:

= v y Z b 3
gic a=b", b=c¢’, c=a" Alxyzdl 4 & :
Options:

1
1.



abe
4.

Question Number : 33 Question Id : 1982361287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The length (in meters) of a rope, by which a cow must be tethered in order that it
may graze over an area of 616 sq. m. is

UH M B b ol el (dio H) H 3W WeR 9| T 2 fd a8 616 @ AR
S AR ORE HABY T% Hhdl § | Wl B s B8l

Options:
14

Question Number : 34 Question Id : 1982361288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

The shadow of a stick of height 1 meter when the angle of elevation of sun is
60°, will be -
Tdh Hicx $d Be! DI Bl & M, dl Gd B =G DI 60° 2, BF

Options:
1

V3

m (Hlo)

m (Hlo)

LJlI-—

\3 m (Hio)

3 m (Hlo)

Question Number : 35 Question Id : 1982361289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Question Label ; Multiple Choice Guestion
The number of diagonals of a polygon of n sides is :

n Yol dlcl 989 @ a0l @1 § JE=T el ¢

Options:
nin—23)
2
1.
i+ 1)
2
2.
nin—1)
2
= =
(1n+3)
2
4. =

Question Number : 36 Question Id : 1982361290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
The value of {23 L 0 2_3’] =2
(2242242242 =2 FT HA T
Options:
99
3

99
16

Question Number : 37 Question Id : 1982361291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The greatest among [-‘I?—'\IIF)) [ME J3 ); {mﬁ Ll ); [ﬁﬂ—f\-"ﬁ) i
}: ( "Iq—'\-f); (\"H \-"a)if e 991 © ¢

—

|'T 5 (]
(wa‘ —w'-?], (*u"-"*—m'J

Options:



Question Number : 38 Question Id : 1982361292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

If 1.125x 10" = 001125, then k = ?

IfZ 1.125 x 10° = 001125, a1 k &1 A EFT -
Options:

-3
1.

Question Number : 39 Question Id : 1982361293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

815+0.025x0033 =7

Options:
10.758
1.

326

98787873

None of the three

(= 5 9 318 2



Question Number : 40 Question Id : 1982361294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

: 2 7 5
If p=—, q=L and 1 =l,t11911:
5 9 7
. 3 7 5
g p=2, g== A r==, I :
i) 9 /7
Options:
P =l b=l
. F 1
2 EETRR
< (<1
2 Pesd]
4 ¥ < :I{P‘

Question Number : 41 Question Id : 1982361295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Juestion Label - Multiple Choice Cuestion

1 litre of water weighs 1 kg. How many cubic millimeters of water will weigh
01lgm?

Ud e UMl @ 9% Ud fhammd 21 fead 99 86l ey o= &1 %) 0.1 7™
2T ?

Options:

100

1.

10

0.1

Question Number : 42 Question Id : 1982361296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

In what ratio must water be mixed with milk to gain 10% by selling the mixture
at cost price ?
fpa SIgUTd H U1 &1 g fAemar o fe A7 @7 99 W 10% &1 A 8 Sidid




Options:

B

5 2:10

pk
g

4 1:20

Question Number : 43 Question Id : 1982361297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

What is remainder when 789456123 is divided by 999 ?
afe 789456123 BT 999 | T & oI A%l X1 2 2

Options:
1 369

Question Number : 44 Question Id : 1982361298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion
The value of 9192 is -

192 @1 9+ B :

Options:

283

Plsp

2

[#a]
eg
W]

o
20
u."-a']

Question Number : 45 Question Id : 1982361299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Factors of the polynomial 252 _12x+18 is -

TEUE 247 —12x + 18 BT UHETS ¥ :

Options:

2
N 2{x—3)

Question Number : 46 Question Id : 1982361300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

A number whose fifth part increased by 5 is equal to its fourth part diminished
by 5. The number is :

Ud & @ Giad 90T § 5 gel f3ar W a1 38 G 39 Ay 97T § 5 $H @ o
% gYEN BT Wl € | HE BT A €

Options:

, 200

5 160

2 150

4 100

Question Number : 47 Question Id : 1982361301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

A man went to the market at the speed of 4 kimn/hr and returned at 3 km/hr. If
he took 30 minutes more in returning, the distance of the market from his home
16:2

Ud dfda 4 fhoHlo /Hel @1 Al ¥ WK Wil 2 a9l 3 fdodlo/Hel & @md d
a2 | Afg @ o 30 AT Sifde WHa o el § O 99 BX 6 G

Options:




6 km
1 &) ﬁﬁoﬁfo

Skm

12 km
4 12 fmotio

Question Number : 48 Question Id : 1982361302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

There are benches in the classroom. It 4 students sit on each bench three
benches are left vacant and if 3 students sit on each bench 3 students are left
standing. Total number of students in the class is :

FIA Fel § §o 99 21 I 4 Al e 9 woded € d1 3 §9 el 38 O
g 3ir gfe 3 el uee 99 W 9S o1 3 el we v@ 9K 2| faentEia #1 $a
=T FeaT HE H oAl © 7
Options:

43

1

L |

o P

60

64

Question Number : 49 Question Id : 1982361303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

A's age is six times B's age. 15 years hence, A will be three times as old as B. The
ageof Bis:
AD AGBS AG B 6T 21 15991 915 A &1 31 B & G &1 3 T 21 S|
B &1 aqAM Y
Options:

10 vears

; 109



12 years
12 99

8 years
3d9

16 years
16 99

Question Number : 50 Question Id : 1982361304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

In an examination, A secured 360 marks, his percentage of marks is 45%. His
tfriend B secured 436 marks in the same examination. The percentage of marks of
B in the examination is :

foredl Tiem H A, 360 3fd UTd &N & T SUHT Ui Ufaed 45% & | S Ter
H B, 436 3t UTw &eal & | 99 UNieT § B &1 urwiies Ufaed 2 ¢

Options:
, 54.5%

Question Number : 51 Question Id : 1982361305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Find the compound interest on Rs. 24,000 compounded annually for 2 years at
the rate of 10% per annum :

24000 %o B 10% a4 =hdig &Tol @I ¢ H 2 99 H Thgla el Sd BIg,
Options:

Rs. 5,040

5,040 To

Rs. 5,000
, 5,000 %o



Rs. 5,160
5,160 %o

Question Number : 52 Question Id : 1982361306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The base of an isosceles triangle is 30 cm and its area is 360 cml. The perimeter
of the triangle is :
80 HoHlo AN dlcd Teh WHIgAg e &1 &=ba 360 7 HoHlo 21 TH By &1
Options:

162 cm

162 HoHlo

1

160 cm
160 JoTlo

170 cm
170 HoHo

176 cm
176 HoTlo

Question Number : 53 Question Id : 1982361307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The circumterence of circular plate is 132 em. The area of circular plate is :

(993
-2
Wil
Udh glhR ©ic @l IR 132 WoHlo 2| §H JBR ©ic &I &% = :
e a
|“=Tl
\ Fa

Options:
el :)
1386 em

, 1386 T HoHlo



1280 cm2
1280 T+ HoHlo

1360 cmz

5 1360 T HoHlo

1276 4:11'12
1276 99 HoHlo

Question Number : 54 Question Id : 1982361308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The volume of the cube is 1723 ¢cm® . The surface area of the cube is :
U T B A 1728 oo 2| 39 U BT YU EFHA ¢
Options:

364 cm?

, 864 @ HoHlo

560 cm?‘
360 T HoHlo

760 t:m2
760 T HoHlo

— 3
876 cm”
4 8767 HoHlo

Question Number : 55 Question Id : 1982361309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

A box contains 20 bulbs, 5 of which are defective. One bulb is drawmn at
random. The probability of not-defective bulb is :

U dfed H 20 god ¥ Y 2 O 5 9cd @RE 21 Afe Ud ded g w9 9
TelT T | 9od EXTE Al 8 @1 Widdal ¢

Options:

3

1, I



| =

| e

e | =

Question Number : 56 Question Id : 1982361310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question
The mean of 6 numbers is 20. It one number is excluded, their mean is 22. The
excluded number is :
6 Tl T AT 20 ¥ | Al Uh W s9H | e §1 W™ 1 S96T J9ed 22 81
Options:

10

1.

12

11

Question Number : 57 Question Id : 1982361311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

If twice the greater number divided by smaller number the quotient is 3 and the
remainder is 5 and if four times the smaller divided by greater, the quotient is 2
and the remainder is 20. The smaller number is :

afe g€ W& & |7 T B BIc! H&T ° fauiford fear W |1 ArThe 3 T ¥
TEdl 2 AR 4G OIS W&l & 4 A @I g1 He | fauifora far o o wreThe
qUT 919 20 FEaT 2 | BIe! 9 &1 9F €

|

[

Options:
25

1, #
30



36

Question Number : 58 Question Id : 1982361312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

4 men and 6 women finish a job in 8 days, while 3 men and 7 women finish it in
10 days. How many days will 10 women working together finizh it ?

4 ATEA AR 6 ARG Tl &1 &1 8 37 § ¥ & 2, Tafd 3 AeH! iR 7 3Rd 99l
&9 D1 10 f39 H g1 &vd 2 110 3fRd fHerehr 9l oA &1 fovo o d gqur &l 2

Options:
40 days

lmﬁﬂ

1

days

fe1

|

3.
5 AL
30 days
30 fe=

20 days
20 fe

Question Number : 59 Question Id : 1982361313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

If a number decreased by 20 is equal to 69 times the reciprocal of the number,
then number is :

afe el dem | 20 w8 &Y fGar Wy df 98 9@ A9 o B 69 TTH B SREY
B Ol 2 | =T &1 A €

Options:

;23

24

[t
i



30

Question Number : 60 Question Id : 1982361314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label : Multiple Choice Question

A passenger train takes 3 hours less for a journey of 360 km if its speed is
increased by 10 km/hr. The original speed of the train is :

T AT RSl D 360 fdodlo &1 AT W4 H 3 ©E &H HHA o, Afg 98 HUAI
ATl 10 fhedlo /€T a1 © | =T TSl &l el dral B

Options:
30 km/hr

, 30 fdhoHlo /HeT

35 km/hr
35 fhodlo/He

40 km/hr
= 40 fodlo /Her

32 km/hr
4 32 fdoHlo,/HeT

Sec Il Data & Reasoning

Section Id : 19823630
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 90
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 19823635
Question Shuffling Allowed : Yes

Question Id : 1982361315 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (61 to 64)
Cuesticon Label | Comprehension



From following frequency table of marks of students answer the question

OEl & bl & - IR 9 § U9 &1 908 iy

Marks Frequency
AP qIRARAT
0-10 10

10-20 15
20-30 %
30-40 25
40-50 15

Sub questions

Question Number : 61 Question Id : 1982361316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

The percentage of student getting marks less than 30 1s:
30 ¥ FH 3@ U drel BT @ HO9 ©

Options:
60

1.

Question Number : 62 Question Id : 1982361317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
The percentage of students getting marks 10 or more but less than 40is :

10 91 39 €@ 3R 40 W &H 3fd U 1ol Bl & 99 ©

Options:
i

1

> bo 0

-

He=
[

L
L]



Question Number : 63 Question Id : 1982361318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
The approximate value of mode of marks is:

3ehl & agdAD B Aulaldl AN &

Options:
1 25

> 10

o
i
[

Question Number : 64 Question Id : 1982361319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

If passing marks is 20 then what is ratio of pass to fail :

gfe I B 1 3fe 20 21, A S0 B AIUE ST Bl I @

Options:

1_Z’-:l

[
L

L |
[t

Sub-Section Number: 2
Sub-Section I1d: 19823636
Question Shuffling Allowed : Yes

Question Id : 1982361320 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (65 to 68)
Juestion Label - Comprehension



The following figure shows the share of 20,000 votes polled to three parties
A, Band C.
Fereferead fo 9 et A, B @91 C &1 U 20,000 Hai R iEr Ban 2|

Sub questions

Question Number : 65 Question Id : 1982361321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label - Multiple Choice Cuestion

The votes obtained by parties A, B & C are respectively.
ol A, B T2 C &7 ool gai &1 9= Haw: €

Options:
;1 12,000, 6,000 & 2,000

» 10,000, 6,000 & 4,000
- 14,000, 4,000 & 2,000

4 11,000, 5,500 & 3,500

Question Number : 66 Question Id : 1982361322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

How much more votes party A obtained with the total votes of party B & C ?
ool B 3R C &1 U< &l ddl ¥ A A & Ad fabor affds o ?

Options:
4,000

1
, 1,000
. 8,000

, 2,000



Question Number : 67 Question Id : 1982361323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

As compared to party C what was percentage of excess vote obtained by party
B?
&d C @1 gol H 51 B +1 fba+ ufawrd &fere 9d g fobar ?

Options:

N 67

2 20

Question Number : 68 Question Id : 1982361324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

If 3,000 women casted vote to party A then the percentage of male voted to

party Ais:

I | 3,000 AR 5 g1 A BT 99 51 O T A B A9 ©F e qoul B
Options:

Fi=
1 £

15

[
[

Sub-Section Number: 3
Sub-Section 1d: 19823637
Question Shuffling Allowed : Yes

Question Number : 69 Question Id : 1982361325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Find the appropriate value of term '?’ in following series ?
=1 2ol |5 ug 7 &1 Sfd A W & 7

L1,

7478732

a
4, 15

Question Number : 70 Question Id : 1982361326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The letter having maximum frequency in the word 'STATISTICS' is :
58 'STATISTICS' ¥ Hf9wdy IR=rNdl arell 3N 2

Options:
T

1.

2. A

Question Number : 71 Question Id : 1982361327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Choosze the correct alternative for 7" on the basis of relationship given below :
Mango : Fruit : : Patato : ?

Ffeiad Heda & amR WX 7 & fov §&t fddey &1 I |

11 £ R FTC BRI [ 7

Options:




Vegetable

\;-'“5”

Fruit
Thed

Flower
e
y

Stem

4 T

Question Number : 72 Question Id : 1982361328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Choose the correct alternative for '?" on the basis of relationship given below :
Chanakya : Politician : : Kalidasa : ?
feferiad Heg & IR WX 7 & oy §&T fadey &1 I+

-

TR NTolTod : : BIelgid @ 2

Options:
Dramatist
- -x:'__ [s ¥ ':F} b4

Literature

Hlle
2.

Sanskrit

H\"'—?gﬂ

Englizh
4, ST

Question Number : 73 Question Id : 1982361329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion



Fill in the blank by choosing correct alternative as given below :
Taj Mahal is related to love in the same way as Jalliawala Bagh is related
to—— 7
=feffiad | |8l fahed gy @ell W 9Y ¢
drsTHed &7 U9 ¥ 99 USR &1 98 2 599 uen Sferdarer anT &1 He e ———
Options:
Martyrdom

1 <Telq

Amritsar

East-India Company

: == E;
pic-pladl cHid]

Question Number : 74 Question Id : 1982361330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Choose the alternative which is different from others in the group ?
ST ¥ S9 famey &1 g0 @ We § Hey el & ¢
Options:

=

Question Number : 75 Question Id : 1982361331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Which of the following alternative has a number not divisible by 3 ?
= & dH-a1 fadeed 3 4§ vroa T8 8 °
Options:
2011

1



2001

2019

Question Number : 76 Question Id : 1982361332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

In certain code language, 431" means 'sky is blue’, 246’ means 'sea is deep’ and
'698" means 'sea was blue'. The code for 'blue’ and 'is', respectively, are :
fepeil THi¥ea @ 91T # 481" &7 31f & AN Al €, '246' BT AS § TR TN

=y

& 3 '698' ®1 el B WHg el or | ier 3R 2 $ oY, HHEr, He B

Options:

L 8&4

> 'j: & S

Question Number : 77 Question Id : 1982361333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Let 'A + B' means 'A is the daughter of B;
'A% B means 'Ais son of B';

'A - B means 'A is wife of B;

Then P x Q- S, means :

g 'A+B & 3d € 'A, B @ Pl
‘AxB @ 3R 2 A B @ IF &

'A-B & 3 € 'A, B B UTIl T;

dd PxQ-S, &1 39 2 :

Options:
Sis father of P

. P& fgar s 2



S is wife of Q

Q @ T+ S8

Q is father of P
P& fIar Q2

P is daughter of Q
4 Q@I PR

Question Number : 78 Question Id : 1982361334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

If 20-10 means 200, 3 = 4 means 12, 6 x 2 means 4, then :
afg 20-10 T 312f 200, 8 = 4 T a7 12, 6x 2 31ef 4 @ ;
100 -10x 1000 = 1000 x 10 = ?
Options:

1 990

5 1000

4 1010

Question Number : 79 Question Id : 1982361335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
The meaningful logical order of family, community, member, country is :

GRAR, WYEM, e, <9 B FAYY 1D HH €

Options:
member, tﬂll'l.‘i_].fx'l comumunity, country

Ao, AN, ¥qerd, o9

tamily, member community, country
i~ R
IRAR, Hew, e, o9

tamily, community, member, country
= 5
IfaR, §HeE, 9w, o




country, member, community, family
4 ¥, HoH, G, Hikdx

Question Number : 80 Question Id : 1982361336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Find the missing number from among the given alternatives :
fg2 U fadedl |9 Sfsie 9T &l S &Y -
3 T T
N ) -
2136 |6 246 13 4( ? )6
20 \38/ "’/
& 8 10

Options:

46
1.

56

Question Number : 81 Question Id : 1982361337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

A die is thrown three times and its three different positions are given below. Find
the number on the face opposite the face showing 3

UH ORI O 91X Bl Wl § AR S9d A Aa-aiad gRiefadl e €103
G aTel U & fausid U @7 e o By |

30 6

Options:

1.1.';

(8]



Question Number : 82 Question Id : 1982361338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Guestion

The number of right angles in following figure is
= o | 99 Bl o 9 g o

Options:

1.

Question Number : 83 Question Id : 1982361339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

Which of the following letter is not symmetrical ?
Options:

1.'T

A
2.

Sub-Section Number: 4
Sub-Section I1d: 19823638
Question Shuffling Allowed : Yes

Question Id : 1982361340 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (84 to 86)
Juestion Label | Comprehension



The result of an examination in which 1000 students failed, is given below.
(i) 658 failed in Physics.

(ii) 166 failed in Ph;;zics and Chemistry.

(iii) 372 failed in Ch-emis.tr}', 434 failed i_n Physics and Mathematics.

(iv) 590 failed in Mathematics, 126 failed in Mathematics and Chemistry.
UP gYiET @ 1000 A0 BTE BT R fAFad 21

U qRIe 1 9ReE A= fEEr T 211000 erEl o fh aiFEied §Y 9 ¢
(i) 658 fihforerd H il a1 1Y |

(ii) 166 fhfoTed afR SR 5 il 81 Tu|

(iii) 372 ST H Sl 31 U, 434 o SR TTforg H argiivl &1 T |
(iv) 590 TTfOrg & S 81 7Y, 126 T SR HEATT § il 21 1 |

Sub questions

Question Number : 84 Question Id : 1982361341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

The number of students who failed in Mathematics but not Chemistry is :

OIS @ AE, A I § Sl 8 oft SR ¥ T2 ¥

Options:

L 464

D
W)
]

Question Number : 85 Question Id : 1982361342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

The number of students who failed in Physics but not Mathematics is :

Ny

WAl B e, Wl fibfored 9 STeiivl 81 w1 TTiorg H + 2, 2
Options:
224

1



232

Question Number : 86 Question Id : 1982361343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The number of students who failed in Physics or Mathematics but not in
Chemistry is :

WIsl Bl &, @I fibforad a1 T § SrRiivl 81 offe] BifAegl | 7 8, 8

Options:

623

1

718

Sub-Section Number: 5
Sub-Section 1d: 19823639
Question Shuffling Allowed : Yes

Question Number : 87 Question Id : 1982361344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Find the arithmetic mean of following observations :
fferfiga affdsi &1 TH-OY J1eg fHare
20, 40, 0, 10, 30, 25, 15

Lady

Options:

N 20

[+

222

]
[
[
s

Sub-Section Number: 6
Sub-Section 1d: 19823640
Question Shuffling Allowed : Yes



Question Id : 1982361345 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (88 to 90)

Question Label 1 Comprehension
Read the grapl and answer the question given below : Number of visas issued by
U.5. A for India and China in 6 different months.

I Ue 3V JF 20 gy % 9N © - 6 A-IT gl § URg AW 99 & v
Jo THo VYo G WX {HY el & He= |

450+
4001 >@<J— =i
3501 A —a__ .
30+ O e T
25071
2007
150
100
50 —
6 g
March April May | June | July | August
il ATHE iE A SEIE ST
India 400 310 360 320 250 300
— -
China 300 350 230 250 320 360
—0— ==
Sub questions

Question Number : 88 Question Id : 1982361346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question
What is the difference betiwveen the total number of visas issued for India and
China together in April and the total numer of visas issued for both the
countries together in June ?

e H UP W1 9ING SR UH @ oY 9 @ @l W SR ST H U Wi Sl
o9l & o0 O @1 5 el GE0 & 91" BT JOR /T8 7

Options:
90

1.
70
110

100



Question Number : 89 Question Id : 1982361347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The number of visas issued for India in March decresed by 20% from the
previous month. What is the ratio of visas issued for India in February to May ?
A4 H Rd @ forg W fu U 9o @1 We Ued #E § 20% & B TS £
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Options:

25:18
1.

24:13

Question Number : 90 Question Id : 1982361348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The number of visas issued to India decreased by what percent from May to
July ?

Options:

, 305

5 33

351

3 3
.

4 5%

Sec IV VA and Language English

Section Id : 19823631
Section Number : 4
Section type: Online
Mandatory or Optional: Optiona

Number of Questions; 30



Number of Questionsto be attempted: 30

Section Marks: 90

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 19823641
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 1982361349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word nearest in meaning to the given word :

Enigma :

Options:
) enjoyment

energy”
z. &}

miser
=4

4 1'1'1_&-'5’[91'3'

Question Number : 92 Question Id : 1982361350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the word nearest in meaning to the given word :
Cringe :

Options:

1 cower

5 cnrnipt

= contain

4 contend

Question Number : 93 Question Id : 1982361351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion



Select the word nearest in meaning to the given word :
Ravenous -

Options:

1 WVETeImois

VOracions
Et:‘il".’iﬂg

deserving

Question Number : 94 Question Id : 1982361352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the word opposite in meaning to the given word :
Promulgate :

Options:

. withhold

o drag
vex

solve
4

Question Number : 95 Question Id : 1982361353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the word opposite in meaning to the given word :

Virulent :

Options:
unreal

o faulty

3 combative

4 affectionate



Question Number : 96 Question Id : 1982361354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the word opposite in meaning to the given word :
Convivial -

Options:
. tleshy

5 ridiculous

3 unsociable

jovical

Question Number : 97 Question Id : 1982361355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question
Select the correct meaning of the given idiomatic expression :
Lay down one's life :

Options:
. surrender before god

5 state clearly and definitely

3 spoil one's lite

4 sacrifice one's life

Question Number : 98 Question Id : 1982361356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the correct meaning of the given idiomatic expression :
Brush-up :

Options:

3 Regain skill or knowledge

5 Refuse to consider



Z Accumulate mnoney’

4 Reveal clearly

Question Number : 99 Question Id : 1982361357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Select the correct meaning of the given idiomatic expression :
Break-out :

Options:
i an escape from prizcm

5 an occasion when a machine stops working
3 a series of drum beats

4 overcoine

Question Number : 100 Question Id : 1982361358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Select the correct meaning of the given idiomatic expression :

Breathe a word :

Options:
i causze to arise

make one realize clearly

z2.
5 Say the slightest thing
4 introduce a bill into parliament

Question Number : 101 Question Id : 1982361359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Select the right word to fill in the blank in the given sentence :

Who mustwe ... to ?

Options:



. kill

vield
2. i
revent
= P

4 embrace

Question Number : 102 Question Id : 1982361360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Select the right word to fill in the blank in the given sentence :
....o....upOn our guide, we went on :

Options:

N Believing

o Focussing

2 Wringing

4 Depending

Question Number : 103 Question Id : 1982361361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
CQuestion Label : Multiple Choice Question

Select the right word to fill in the blank in the given sentence :

They found the boat fast .........___.. in the creek :

Options:
) aground

o floating

= ebbed

4 flowing

Question Number : 104 Question Id : 1982361362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Question Label ; Multiple Choice Guestion
Choose the best option to form the right sentence :

suseoni8a rich euntry,

Options:

Her
1.

Qurs
2.

3 Mine

QOur
4

Question Number : 105 Question Id : 1982361363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Choose the best option to form the right sentence :

Obey yourboss, ............. he will kick you out :

Options:

) and

5 but
because
3 1

otherwise

Question Number : 106 Question Id : 1982361364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Choose the best option to form the right sentence :
7 croaks.

Options:
Crow
1.

, frog

SICDCk



cricket
g

Question Number : 107 Question Id : 1982361365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Choose the best option to form the right sentence :
She was playing with a little fluffy ... .

Options:
. butfalo

COwW

3 kitten

4 baby

Question Number : 108 Question Id : 1982361366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Select the part of speech of the underlined word in the given sentence :

I am keeping well :

Options:
. adverb

adjective
> B
3 determiner

4 conjunction

Question Number : 109 Question Id : 1982361367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Select the part of speech of the underlined word in the given sentence :
I don't approve of this cowardly act :

Options:



adverbh
adjective
noun

determiner

Question Number : 110 Question Id : 1982361368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the part of speech of the underlined word in the given sentence :
Somebody in the know told me he's going to resign :

Options:
| adverb

adjective
z.

o
3.

4 verb

Question Number : 111 Question Id : 1982361369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Fill in the blanks with the correct preposition :
Don'tsit........... the grass. It's wet.
Options:

111
1.

at

over



Question Number : 112 Question Id : 1982361370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Fill in the blanks with the correct preposition :
leutthepaper: ... a pair of scissors.

Options:

at
1.

5 T \.-'ith

Question Number : 113 Question Id : 1982361371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Fill in the blanks with the correct preposition :
Refrain ..o smoking

Options:

N at

o with

z from

4 DY

Question Number : 114 Question Id : 1982361372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Select the word which has been correctly spelt.

Options:
L magpy

5 magp el



3 megp e

4, magp ie

Question Number : 115 Question Id : 1982361373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Select the word which has been correctly spelt.

Options:
. disasterous

disastrous
2.
disesterous

4 disestrous

Question Number : 116 Question Id : 1982361374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Choose the correct option to fill in the blank :

My fatheris ......... ML A

Options:

i
1.

arn

the
=

no article

Question Number : 117 Question Id : 1982361375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Choose the correct option to fill in the blank :

Ilove playing .......... foothall.



Options:

a
1.

a1

the
=3

4 no article

Question Number : 118 Question Id ;: 1982361376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Choosze the correct option to fill in the blank :
Thisis ............ book I was looking for.

Options:

ol
1.

ar

the
=3

no article
4.

Question Number : 119 Question Id : 1982361377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Add a suitable tag question to the given sentence :
They will beat our team, ................
Options:

L will they ?

, can they ?

MO SR ]
= isnt it ¢

4 Won't they ?



Question Number : 120 Question Id : 1982361378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Add a suitable tag question to the given sentence :

Letsgoforawalk, .........__.

Options:

L shall we ?

o shan't we ?
will you ?

2

4 won't you ?

Sec IV V& and Language Hindi

Section Id : 19823632
Section Number : 5
Section type: Online
Mandatory or Optional: Optiona
Number of Questions: 30
Number of Questionsto be attempted: 30
Section Marks: Q0
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 19823642
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 1982361379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

P il - 3 B ey
FTeTRgT 5 I 9 95 & ¢

Options:

, LGSR

EIIEET
2.

.F C 7 K
2 -:Ex 1:--]‘\



Question Number : 122 Question Id : 1982361380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

FfeiEd o &9 o 9= § 7

iy

Options:

Question Number : 123 Question Id ;: 1982361381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Zgra ¥ wid G g ?

Options:

| 9fz W
e e
S.THHT-ET

JuT i
4

Question Number : 124 Question 1d : 1982361382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

TP H HIE G 7 7

Options:

o -u_i \._'F'ET
1. <



=
2 T i
y, TE i

Question Number : 125 Question Id : 1982361383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

‘e H PH-91 S99T 8 7

Options:

Question Number : 126 Question Id : 1982361384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

g4 9§ i AT H gargET F8 8 7

Options:

A

2.

3

, TTaPH

Question Number : 127 Question Id : 1982361385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

AT H -1 TAd © 7

Options:



Question Number : 128 Question Id : 1982361386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

‘INUEHST H HI-HT T 8 7
Options:

Question Number : 129 Question Id : 1982361387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

'TBEN H HE-9T 99149 & 7

Options:

Question Number : 130 Question Id : 1982361388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



I 5T UPN T I B 7
Options:

faqeh

Question Number : 131 Question Id : 1982361389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Options:
. &

ot

Question Number : 132 Question Id : 1982361390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Hods Bl '&HZ’\ H ﬁk
Options:

,

Question Number : 133 Question Id : 1982361391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



QU.EStiDH Lalbel - Multiple _hoice QU.EStiDH
R &1 fTom 8 ¢

Options:
1 EEGE

Question Number : 134 Question Id : 1982361392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

251 W & faard &1 Moy 9N |iaas & f6F ar=os | fear a1 8 2

Options:

N 343

Question Number : 135 Question Id : 1982361393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

T fé=sl &1 ey g 9 | UiiNg fopar /& ?
Options:

1_1945

5 1950

1963
3.16:.

4 1977



Question Number : 136 Question Id : 1982361394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

AET0 OERT & WHIGE o

Options:
1 Udrd ANTI THA

STifeig fede]
o EANY Tgd

- G I B2 R PR

Question Number : 137 Question Id : 1982361395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

ia . A X i 5 B
89 O & HRMUG-99ed HiF o 7

Options:

] o SR e Nl o
HeldlY HHlg [gdg

1
2. T.r-f

| = - 5
4 AiEA ollel gdal

Question Number : 138 Question Id : 1982361396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

‘FEA T GEGEH B AT 7

Options:

UG 8NTa—

1.

,
bl
ad

3 HEA ATE-1 ATdid



Question Number : 139 Question Id : 1982361397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

"IN T HETRTd &l Ye-T fhdT & 7

Options:

TG EY G

1.

4, G XEH

Question Number : 140 Question Id : 1982361398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

Options:

s 1

1.

o T

Question Number : 141 Question Id : 1982361399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Options:

1 b I H



oy

Question Number : 142 Question 1d : 1982361400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

=

HRTERTHTE H F fhda | g 7

Options:

. "

2.

4

Question Number : 143 Question Id ;: 1982361401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

: [l ¥ - N fa B -y
qiddl HiTel T Hd] ¥l & ¢

Options:
1 Y LYy 1 1
2 R

CEE R

G

Question Number : 144 Question Id : 1982361402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

‘Foodel AIAT fHda] =1 8 2

Options:

TSI G

1.
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IR BIETIE]

Question Number : 145 Question Id : 1982361403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

-

FOFRIFTA B TR BT b Hel 2 7

Options:

L ICECRIE R ICRCE:

NHA= \f e

o oL N
odlxl Mg [gdal

LR R

Question Number : 146 Question Id : 1982361404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

I BT W QAT ! Y= 8 7

Options:

. IGEL

o T HY TS

4 AT doetd I

Question Number : 147 Question 1d : 1982361405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

AT gETNol W9, el @ = e 9v g3 oft ?
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Question Number : 148 Question Id : 1982361406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question
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Question Number : 149 Question Id : 1982361407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question
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Question Number : 150 Question Id : 1982361408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question
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